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Write your roll number on question paper before start writing answers of questions. No supplementary answer-hook will be given to any

candidate, hence the candidates shouldwrite their answer precisely.
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answer as well as descriptive) are to be given in the
estion of descriptive part should be answered
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Answers of all the questions (short main answer-book only. Answer of Short

given in sequential order: Similarly all the parts of one qu

hook. One complete question should not be answered at different places in the answer-book.
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answer type questions must be

at one place in the answer-
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PART-I & 11

Maximum Marks: 40

30 marks and shall consist of 10 compulsory questions of 2 marks

Each guestion paper shall consist of three parts. Part-1 shall carry

each to be ansered in 20-25 words each.
wpulsory questions of 5 marks each 1o be answered

Part-I1 shall carry 20 marks and shall consist of 4 con
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in 150 words each.
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Part-A/¥\AT-3
(a) Who 1s called the Father of politcal saence?
T R @ 79 6 & T #2
(h) Wiile any two causes for the rise of Behavioralism
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fruit, political serence without history has no root” whose statement is this?
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ic) X “History withouot political science has no
ey Rrers & R sher = @Y om 8, sfE &
(d) ¥ Who isthe author of Book "new aspects of politics”?
v ST At dife (o & S B 8
ie!x Bv what name did almond address the political culture?
e ¥ <. el @) e A 3wt B E
rﬂx “Palitical development with political decline” who said this?
ST e & TeEife oo 98 fewe @l
(2)  What do you mean by elite theory?
Ftrsen Rigia & oy aar wwE &
(h)  Whatis political communication?
TeHi® HOR &4 8
{i];{ Write two types of political theory?
T e © & TeR FRael
(j) What means can we use for political modernization?
e st & fre fe e @ wn R 5w
Part-11/9m-11
2 Causes of political change.
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Part-1i1 of the question paper shall ¢
marks each. Candidates will be
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Nature of Political Culture
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Group theory,
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Write about three !‘c.-nlufc.-iHl‘F"‘h“C“l development according to Lucian Pie?
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PART-11I DESCRIPTIVE
Maximum Marks: 60

mmmyﬂﬁmmrpﬁaméeﬁmwmmﬂywmwmmﬁfmm;

6,

Part-111/9m-111
Section-A/@vE-31

Describe the definations and characteristics of modern political science?
s <R R @ aRwTY v frdent @1 vt Sl
OR/armEm
Explain the relations between political science with history and economics?
i faam @ SR 3k srferer fwdh & w wdet & wren Sl
Section-B/@E-g

Examine the different variables used by Richard D. Synder in his decision marking theory?
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Evaluate communication theory of Karl. W. Deutsch.
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arrv 60 marks. This part shall be divided into 3 secitons comprising of 2 eassy type quesiion of 20

required to attempt one question from each section (3 questions in all, one from each section)
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Section-C/@vs-d
Write about the determinants of political socialization?
e wate< & Fufet & at & e
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What is politicd process approach? Explain.
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